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kqu@lily ch11_awk]$ cat awk.scl [kgu@lily ch11_awk]$ gawk -f awk.sc1 datafile

# awk script using pipe NAME DISTRICT
BEGIN({ S
printf "%-22s%s#n", "NAME", "DISTRICT" AM ML LSS
Tt S " Ann Stephens central
} Charles  Main northwest

Lewis Dalsase  southwest
Margot  Weber north
Patrick Hemenway southeast

/west/ {count++}
{printf "%-10s %-10s %-15s¥#n", $3, $4, $1 |"sort -k 1"}

END{
close ("sort -k 1) Sharon  Gray western
T " Suan Chin southern
printf "The number of sales persons in Western " L Savage  eastern
printf "region is " count "¥Wn" | | T
} The number of sales persons in Western region is 3



__I_L
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He

| I
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L
T L -1 L (=
oj 5O A= H=0HX| B SH0 A= ifE
e - .
HFC Al HA[SHOF &
if (RAAD { [kgu@lily ch11_awk]$ gawk '{if ($8 > 20) print $1 " Too High "; else print
Xb O X} "Range is OK!"}' datafile

}

northwest Too High
western Too High

Range is OK!

{if (A { . gel o
St 2 Xt ange Is |

}I_ L / Range is OKI

Range is OK!

else if (A { A gel o
St 2 Xt ange Is |

}I_ L 1] Range is OKI

Range is OK!



L

while
> ALE O

dhe 2

[kgu@lily ch11_awk]$ gawk {i = 1; while (i <= NF) {print NF, $i; i++; }}' datafile

for
> A& O

[kgu@lily ch11_awk]$ gawk '{for (i = 1; i <= NF; i++) print NF, $i }' datafile

Ht= = K| O] : break, continue

[kgu@lily ch1l_awk]$ cat awk.sc2
{for (x = 3; x <= NF; x++)

if ($x < 0) { print "Bottomed out!'

# break for loop
}

{for (x = 3; x <= NF; x++)

if ($x == 0) { print "Get Next item";

}

"|break

continue




HIE (1)

Associative array : Hj @& X}of| s=XfL}
ZAIE 25 A8 7ts
PHIE MAE 7|2, ol E102[F HE

[kgu@lily ch11_awk]$ gawk {name[x++] = $2}; END {for(i=0; i < NR; i++) print i, name[i]}' employees
0 Jones

1 Adams

2 Chang

3 Black

[kgu@lily ch11_awk]$ cat awk.sc3

/tom/ {count["tom"]+ +}

/mary/ {count["mary"]++}

END {print "There are " count["tom"] " Toms and " count["'mary"] " Marys in the file." }
[kgu@lily ch11_awk]$ gawk -f awk.sc3 datafile2

There are 2 Toms and 4 Marys in the file.



HIE (2)

E A Hi & O
—/ 1 for |_|- — =
{ for (OtO|&! in Hf S H) {

print B 2 B [O}O| &)

}
}

[kgu@lily ch1l_awk]$ gawk '/Atom/{name[NR]=$1}; END {for (i = 1; i <= NR; i++) {print nameli]}}' datafile2
tom

tom

[kgu@lily ch1l_awk]$ gawk '/Atom/{name[NR]=$1}; END {for (i in name) {print nameli]}}' datafile2
tom
tom

[kgu@lily ch1l_awk]$ gawk '{count[$2]++} END{for (name in count) print name, count[name]}' employees

SISt D L ZEE



HIE (3)

—t

t Sk~
Hi S f 2 T
spllt (ZAHE, B E, ZEFEXD

Sp“t (EXAHE, HIE)

[kgu@lily ch1l_awk]$ gawk 'BEGIN { split("3/15/2013", date, "/"); print "The month is "

date[3];}' employees
The month is 3 and the year is 2013

date[1] "

and the year is "



» sub, gsub

sub (FrES A, X|2HZAb);

[kgu@lily ch1l_awk]$ gawk '{sub (/Mac/, "Macintosh"); print}' testfile
[kgu@lily ch1l_awk]$ gawk '{sub (/Mac/, "Macintosh", $1); print}' testfile

Index

index (2AtE, FE=AtE)

[kgu@lily ch11_awk]$ gawk '{print index("Hello", "llo")}" testfile
3

» substr

substr ( 2X}E, A|ZF|K));
substr ( 2 X}, AIZHSIX|, 2XtEZO));

[kgu@lily ch11_awk]$ gawk '{ print substr("Santa Claus", 7, 6) }' testfile
Claus




gawk L' {h=g

atan2(x, y)

COS(X)

exp(x)

INt(x)

log(x)

rand(x) : 0 < r < 1 A}O| L=~
SIN(x)

sqrt(x)

srand(x) : rand()& 2|t seed

SISt D L ZEE



A8 X 89| g

N [kgu@lily ch1l_awk]$ cat awk.sc4
o function my_sort ( scores, num_elements, temp, i, j ) {
E _JI\_%% al_o-” 9' tzl- _C_IP:%E fo:e(r?% I2J|V\2”— bneulrrc:c::ements i+4+) {
- . A EI_ - 1 - — 1
%I-T O“ xl—-I = EI—l E’l-' for (j = i; scores[j-1] > scores]j]; j--) {
HHAH© XIX Oo| &} temp = scores|j]
_ll_-l =L o _I_O-” —l — scores[j] = scores[j-1]
2§O| D:I, |I|'|_:'_|'A‘| %I'—Jr— scores[j-1] = temp
O = o
OO L8 2ES HHE & S
RUALE. )
=
o7 S20) SO{UR| |,
961-% L¢%% E—IIZ— for (i = 1;i <= NF; i++)
A x| i]=$i
Mousz 3 et rades -
my_sort(grades, NF) # only two arguments are passed
|I|'E_|'A‘| %I'—JI\—O'” &OEI for j = 1;j <= NF; j++)
H A= O A printf ("%d ", grades|j])
TETT RSN TP T RS -
| — —t
==0 =0 LS

0
(2& OHX|EHo]| =2)



(awke} 2= #ZC|E| ALS)

2 74 |- olal S| A =2
last 3 21 AR RIQF 2013 B4 £
== o
[kgu@lily chll_awk]$ last i I._Q_ I- I:I:| XI’ O'I (@] | 7 |'—
ahs6113 pts/7 220.68.175.178 Fri May 24 12:14 still logged !n A (@) X EE —/ = |_|- A - =
ahs6113 pts/4 220.68.175.178 Fri May 24 12:09 still logged !n — . e OI =
ahs6113 pts/6 220.68.175.178 Fri May 24 11:49 still logged !n E_I_ %I'Al_l'o =, A , _I'__
ahs6113 pts/5 220.68.175.178 Fri May 24 11:48 still logged in
kgu pts/2 220.68.173.204 Fri May 24 11:10 still logged in S Al O E == 34
kira43 pts/1 203.232.252.162 Fri May 24 11:10 - 12:24 (01:14? o - 1— é |
kgu pts/0 220.68.173.204 Fri May 24 11:07 still logged in . . o _c')_l-A o
beomel3 pts/0 203.232.252.159 Fri May 24 11:04 - 11:06 (00:01) > St|” |Ogged |n9| %'T | I_l'ol-Xl
y2k0605 pts/0 203.232.252.153 Fri May 24 10:53 - 11:01 (00:08) oF O
ahs6113 pts/19 203.232.252.154 Fri May 24 10:46 - 10:48 (00:01) L'é'E
mrun5 pts/18 203.232.252.145 Fri May 24 10:45 - 10:52 (00:06)
ahs6113 pts/23 203.232.252.154 Fri May 24 10:39 - 10:48 (00:08) AI‘-Q—XI' |:|:| E XI_ O‘l Al 7 I_ Ol X‘” OI
race0 pts/22 203.232.252.153 Fri May 24 10:39 - 10:48 (00:08) o = — H ! =
race0 pts/21 203.232.252.153 Fri May 24 10:38 - 10:48 (00:09) O OI I E
missjuba pts/20 203.232.252.138 Fri May 24 10:38 - 10:42 (00:04) X_II' CA)AI- Elj 7O:| _|_9' X‘I = 7E 91 |
beomel3 pts/19 203.232.252.139 Fri May 24 10:38 - 10:44 (00:06) 7:| O S E:l
oT =
re) = ~
wtmp begins Thu May 9 06:52:14 2013 X_II- %‘l A I7_'- (I:)=II-7:” = 7| - @) E
yuy = 24
X =4 "'|. -| ol Al O
o =0 AN H o o= =
E X 2 |.O Ol EH
=3 AISAe K22
- >
XFEA 7:” A |-03| =
—II- =] A |7_|- |_|-c> =
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